# ABSOLUTE CONVERGENCE WITH SPEED AND MATRIX TRANSFORMS 

A. AASMA ${ }^{1 *}$, P. N. NATARAJAN ${ }^{2}$, §


#### Abstract

We define the notion of absolute convergence with speed, where the speed is defined by a monotonically increasing positive sequence $\lambda$. Also we present the notion of absolute $\lambda$-conservativity of a matrix, and the notion of improvement of $\lambda$-convergence by a matrix. Let $X, Y$ be two sequence spaces defined by speeds of convergence. In this paper, we give necessary and sufficient conditions for a matrix $A$ (with real or complex entries) to map $X$ into $Y$, if $X$ or $Y$ is the set of absolutely $\lambda$-convergent sequences. We also present some examples of matrices being absolutely $\lambda$-conservative or improving the absolute $\lambda$-convergence, and consider these problems in the special cases if $A$ is the Riesz matrix ( $R, p_{n}$ ) or the Zweier matrix $Z_{1 / 2}$.


Keywords: Matrix transforms, convergence and absolute convergence with speed, absolute $\lambda$-conservativity, improvement of $\lambda$-convergence.

AMS Subject Classification: 40D05, 41A25.

## 1. Introduction

Let $X, Y$ be two sequence spaces and $A=\left(a_{n k}\right)$ be an arbitrary matrix with real or complex entries. Throughout this paper we assume that indices and summation indices run from 0 to $\infty$ unless otherwise specified. If for each $x=\left(x_{k}\right) \in X$ the series

$$
A_{n} x:=\sum_{k} a_{n k} x_{k}
$$

converge and the sequence $A x=\left(A_{n} x\right)$ belongs to $Y$, we say that $A$ transforms $X$ into $Y$. By $(X, Y)$ we denote the set of all matrices, which transform $X$ into $Y$. Let $\omega$ be the set of all real or complex valued sequences. Further we need the following well-known

[^0]subspaces of $\omega: c$ - the space of all convergent sequences, $c_{0}$ - the space of all sequences converging to zero, $l_{\infty}$ - the space of all bounded sequences, and
$$
l_{1}:=\left\{x=\left(x_{n}\right): \sum_{n}\left|x_{n}\right|<\infty\right\}
$$

Let $\lambda:=\left(\lambda_{k}\right)$ be a positive (i.e.; $\lambda_{k}>0$ for every $k$ ) monotonically increasing sequence. Following Kangro ([12], [11]), a convergent sequence $x=\left(x_{k}\right)$ with

$$
\begin{equation*}
\lim _{k} x_{k}:=s \text { and } v_{k}=\lambda_{k}\left(x_{k}-s\right) \tag{1.1}
\end{equation*}
$$

is called bounded with the speed $\lambda$ (shortly, $\lambda$-bounded) if $v_{k}=O(1)\left(\right.$ or $\left.\left(v_{k}\right) \in l_{\infty}\right)$, and convergent with the speed $\lambda$ (shortly, $\lambda$-convergent) if the finite limit

$$
\lim _{k} v_{k}:=b
$$

exists (or $\left(v_{k}\right) \in c$ ). In the following we define the notion of absolute convergence with speed $\lambda$.
Definition 1.1. We say that a convergent sequence $x=\left(x_{k}\right)$ with the finite limit $s$ is absolutely convergent with the speed $\lambda$ (shortly, absolutely $\lambda$-convergent) if $\left(v_{k}\right) \in l_{1}$.

We denote the set of all $\lambda$-bounded sequences by $l_{\infty}^{\lambda}$, the set of all $\lambda$-convergent sequences by $c^{\lambda}$, and the set of all absolutely $\lambda$-convergent sequences by $l_{1}^{\lambda}$. Moreover, let

$$
c_{0}^{\lambda}:=\left\{x=\left(x_{k}\right): x \in c^{\lambda} \text { and } \lim _{k} \lambda_{k}\left(x_{k}-s\right)=0\right\}
$$

and

$$
l_{\infty, 0}^{\lambda}=\left\{x=\left(x_{k}\right): x \in l_{\infty}^{\lambda} \cap c_{0}\right\}
$$

It is not difficult to see that

$$
l_{1}^{\lambda} \subset c_{0}^{\lambda} \subset c^{\lambda} \subset l_{\infty}^{\lambda} \subset c, l_{\infty, 0}^{\lambda} \subset l_{\infty}^{\lambda} \subset c
$$

In addition to it, for unbounded sequence $\lambda$ these inclusions are strict. For $\lambda_{k}=O(1)$, we get $c^{\lambda}=l_{\infty}^{\lambda}=c$.

Let $e=(1,1, \ldots), e^{k}=(0, \ldots, 0,1,0, \ldots)$, where 1 is in the $k$-th position, and $\lambda^{-1}=$ $\left(1 / \lambda_{k}\right)$. We note that

$$
e, e^{k}, \lambda^{-1} \in c^{\lambda} ; \quad e, e^{k} \in l_{1}^{\lambda}
$$

A matrix $A$ is said to be conservative if $A \in(c, c)$, and regular if $A \in(c, c)$ with $\lim _{n} A_{n} x=\lim _{n} x_{n}$ for every sequence $x=\left(x_{n}\right) \in c$. Let $\mu:=\left(\mu_{n}\right)$ be another speed of convergence; i.e. a monotonically increasing positive sequence. Following Kangro ([12]), a matrix $A$ is said to be $\lambda$-conservative if $A \in\left(c^{\lambda}, c^{\lambda}\right)$, and improves the $\lambda$-convergence if $A \in\left(c^{\lambda}, c^{\mu}\right)$ with $\mu_{n} / \lambda_{n} \neq O(1)$. We define the notions of the absolute $\lambda$-conservativity and the improvement of absolute $\lambda$-convergence.
Definition 1.2. We say that a matrix $A$ is absolutely $\lambda$-conservative if $A \in\left(l_{1}^{\lambda}, l_{1}^{\lambda}\right)$.
Definition 1.3. We say that a matrix $A$ improves the absolute $\lambda$-convergence if $A \in$ $\left(l_{1}^{\lambda}, l_{1}^{\mu}\right)$ with $\mu_{n} / \lambda_{n} \neq O(1)$.

The sets $\left(l_{\infty}^{\lambda}, l_{\infty}^{\mu}\right),\left(c^{\lambda}, c^{\mu}\right)$ and $\left(c^{\lambda}, l_{\infty}^{\mu}\right)$ have been described in [2] and in [10] - [13]. The $\operatorname{sets}\left(l_{\infty}^{\lambda}, c^{\mu}\right),\left(l_{\infty}^{\lambda}, l_{\infty, 0}^{\mu}\right),\left(l_{\infty}^{\lambda}, c_{0}^{\mu}\right),\left(c^{\lambda}, l_{\infty, 0}^{\mu}\right),\left(c^{\lambda}, c_{0}^{\mu}\right),\left(l_{\infty, 0}^{\lambda}, l_{\infty}^{\mu}\right),\left(l_{\infty, 0}^{\lambda}, l_{\infty, 0}^{\mu}\right),\left(l_{\infty, 0}^{\lambda}, c^{\mu}\right)$, $\left(l_{\infty, 0}^{\lambda}, c_{0}^{\mu}\right),\left(c_{0}^{\lambda}, l_{\infty}^{\mu}\right),\left(c_{0}^{\lambda}, l_{\infty, 0}^{\mu}\right),\left(c_{0}^{\lambda}, c^{\mu}\right)$ and $\left(c_{0}^{\lambda}, c_{0}^{\mu}\right)$ have been characterized in [1]. Necessary and sufficient conditions for the $\lambda$-conservativity and the improvement of $\lambda$-convergence have been found in [12]. A short overview on the convergence with speed has been presented in [3] and [13].

We note that the results connected with convergence, absolute convergence and boundedness with speed can be used in several applications, for example in the approximation theory. Besides, Aasma used such results for the estimation of the order of approximation of Fourier expansions in Banach spaces ([4] - [7]).

In this paper we continue the studies started in [2], [1], [10], [12] and [11]. We describe the matrix transforms related to the absolute $\lambda$-convergence, giving the characterization of the sets $\left(l_{1}^{\lambda}, l_{1}^{\mu}\right),\left(l_{1}^{\lambda}, c_{0}^{\mu}\right),\left(l_{1}^{\lambda}, c^{\mu}\right),\left(l_{1}^{\lambda}, l_{\infty}^{\mu}\right),\left(l_{\infty}^{\lambda}, l_{1}^{\mu}\right),\left(c^{\lambda}, l_{1}^{\mu}\right)$ and $\left(c_{0}^{\lambda}, l_{1}^{\mu}\right)$. Also we present some examples of absolute $\lambda$-conservative matrices, and matrices, which improve the absolute $\lambda$-convergence. We consider the absolute $\lambda$-conservativity and the improvement of the absolute $\lambda$-convergence in the special cases when $A$ is the Riesz matrix $\left(R, p_{n}\right)$ or the Zweier matrix $Z_{1 / 2}$.

## 2. Auxiliary Results

For the proof of main results we need some auxiliary results.
Lemma 2.1 ([9], p. 44, see also [18], Proposition 12). A matrix $A=\left(a_{n k}\right) \in\left(c_{0}, c\right)$ if and only if conditions

$$
\begin{gather*}
\lim _{n} a_{n k}:=a_{k} \text { for all } k  \tag{2.1}\\
\sum_{k}\left|a_{n k}\right|=O(1) \tag{2.2}
\end{gather*}
$$

are satisfied. Moreover,

$$
\begin{equation*}
\lim _{n} A_{n} x=\sum_{k} a_{k} x_{k} \tag{2.3}
\end{equation*}
$$

for every $x=\left(x_{k}\right) \in c_{0}$.
Lemma 2.2 ([9], p. 46-47, see also [8], p. 17-19 or [18], Proposition 11). A matrix $A=\left(a_{n k}\right) \in(c, c)$ if and only if conditions (2.1), (2.2) are satisfied and

$$
\begin{equation*}
\text { there exists a number } \tau \text { such that limit } \lim _{n} \sum_{k} a_{n k}:=\tau \tag{2.4}
\end{equation*}
$$

Moreover, if $\lim _{k} x_{k}=s$ for $x=\left(x_{k}\right) \in c$, then

$$
\lim _{n} A_{n} x=s \tau+\sum_{k}\left(x_{k}-s\right) a_{k}
$$

A matrix $A$ is regular if and only if conditions (2.1), (2.2) and (2.4) are satisfied with $a_{k}=0$ and $\tau=1$.

Lemma 2.3 ([9], p. 51, see also [16], p. 187 or [17], p. 8 or [18], Proposition 10)). The following statements are equivalent:
(a) $A=\left(a_{n k}\right) \in\left(l_{\infty}, c\right)$.
(b) The conditions (2.1), (2.2) are satisfied and

$$
\begin{equation*}
\lim _{n} \sum_{k}\left|a_{n k}-a_{k}\right|=0 \tag{2.5}
\end{equation*}
$$

(c) The condition (2.1) holds and

$$
\begin{equation*}
\text { the series } \sum_{k}\left|a_{n k}\right| \text { converges uniformly in } n \text {. } \tag{2.6}
\end{equation*}
$$

Moreover, if one of statements (a)-(c) is satisfied, then the equation (2.3) holds for every $x=\left(x_{k}\right) \in l_{\infty}$.

Lemma 2.4 ([8], p. 38-40 or [18], Proposition 72)). A matrix $A=\left(a_{n k}\right) \in\left(c_{0}, l_{1}\right)=$ $\left(l_{\infty}, l_{1}\right)$ if and only if

$$
\sum_{n \in I} \sum_{k \in J} a_{n k}=O(1)
$$

for all finite subsets $I$ and $J$ of $\mathbf{N}\{0,1,2, \ldots\}$.
Lemma 2.5 ([8], p. 30 or [18], Proposition 6). A matrix $A=\left(a_{n k}\right) \in\left(l_{1}, l_{\infty}\right)$ if and only if

$$
\begin{equation*}
a_{n k}=O(1) \tag{2.7}
\end{equation*}
$$

Lemma 2.6 ([17], p. 19 or[8], p. 25-26 or [18], Proposition 17). A matrix $A=\left(a_{n k}\right) \in$ $\left(l_{1}, c\right)$ if and only if conditions (2.1) and (2.7) are satisfied. Moreover, the equation (2.3) holds for every $x=\left(x_{k}\right) \in l_{1}$.

Lemma 2.7 ([9], p. 50 or [18], Proposition 77). A matrix $A=\left(a_{n k}\right) \in\left(l_{1}, c_{0}\right)$ if and only if condition (2.1) with $a_{k}=0$, and condition (2.7) are satisfied.
Lemma 2.8 ([17], p. 31, see also [8], p. 34-35 or [18], Proposition 77). A matrix $A=$ $\left(a_{n k}\right) \in\left(l_{1}, l_{1}\right)$ if and only if

$$
\sum_{n}\left|a_{n k}\right|=O(1)
$$

Moreover, the equation (2.3) holds for every $x=\left(x_{k}\right) \in l_{1}$.

## 3. Main Results

First we prove
Theorem 3.1. A matrix $A=\left(a_{n k}\right) \in\left(l_{1}^{\lambda}, l_{1}^{\mu}\right)$ if and only if

$$
\begin{gather*}
A e=\left(A_{n} e\right) \in l_{1}^{\mu}, A_{n} e=\sum_{k} a_{n k}  \tag{3.1}\\
\frac{a_{n k}}{\lambda_{k}}=O(1), \tag{3.2}
\end{gather*}
$$

there exist the finite limits $\lim _{n} a_{n k}:=a_{k}$ for all $k$,

$$
\begin{equation*}
\frac{1}{\lambda_{k}} \sum_{n} \mu_{n}\left|a_{n k}-a_{k}\right|=O(1) \tag{3.3}
\end{equation*}
$$

Proof. Necessity. Let $A \in\left(l_{1}^{\lambda}, l_{1}^{\mu}\right)$. It is easy to see that $e \in l_{1}^{\lambda}$ and $e^{k} \in l_{1}^{\lambda}$. Hence conditions (3.1) and (3.3) hold. Since, from (1.1) we have

$$
x_{k}=\frac{v_{k}}{\lambda_{k}}+s ; s:=\lim _{k} x_{k}, \quad\left(v_{k}\right) \in l_{1}
$$

for every $x:=\left(x_{k}\right) \in l_{1}^{\lambda}$, it follows that

$$
\begin{equation*}
A_{n} x=\sum_{k} \frac{a_{n k}}{\lambda_{k}} v_{k}+s \mathfrak{A}_{n} ; \mathfrak{A}_{n}:=\sum_{k} a_{n k} \tag{3.5}
\end{equation*}
$$

As $\left(\mathfrak{A}_{n}\right) \in l_{1}^{\mu}$ by (3.1), then, from (3.5) we obtain that the matrix

$$
A_{\lambda}:=\left(\frac{a_{n k}}{\lambda_{k}}\right)
$$

transforms this sequence $\left(v_{k}\right) \in l_{1}$ into $c$. In addition, for every sequence $\left(v_{k}\right) \in l_{1}$, the sequence $\left(v_{k} / \lambda_{k}\right) \in c_{0}$. But, for $\left(v_{k} / \lambda_{k}\right)$, there exists a convergent sequence $x:=\left(x_{k}\right)$ with $s:=\lim _{k} x_{k}$, such that $v_{k} / \lambda_{k}=x_{k}-s$. So we have proved that, for every sequence
$\left(v_{k}\right) \in l_{1}$ there exists a sequence $\left(x_{k}\right) \in l_{1}^{\lambda}$ such that $v_{k}=\lambda_{k}\left(x_{k}-s\right)$. Hence $A_{\lambda} \in\left(l_{1}, c\right)$. This implies, by Lemma 2.6, that condition (3.2) is satisfied and the finite limit

$$
\phi:=\lim _{n} A_{n} x=\sum_{k} \frac{a_{k}}{\lambda_{k}} v_{k}+s \lim _{n} \mathfrak{A}_{n}
$$

exists for every $x \in l_{1}^{\lambda}$. Writing

$$
\begin{equation*}
\mu_{n}\left(A_{n} x-\phi\right)=\mu_{n} \sum_{k} \frac{a_{n k}-a_{k}}{\lambda_{k}} v_{k}+s \mu_{n}\left(\mathfrak{A}_{n}-\lim _{n} \mathfrak{A}_{n}\right), \tag{3.6}
\end{equation*}
$$

we conclude, by (3.1) that the matrix $A_{\lambda, \mu} \in\left(l_{1}, l_{1}\right)$, where

$$
A_{\lambda, \mu}:=\left(\mu_{n} \frac{a_{n k}-a_{k}}{\lambda_{k}}\right) .
$$

Hence condition (3.4) is satisfied by Lemma 2.8.
Sufficiency. Let conditions (3.1) - (3.4) be fulfilled. Then relation (3.5) also holds for every $x \in l_{1}^{\lambda}$ and $\left(\mathfrak{A}_{n}\right) \in l_{1}^{\mu}$ by (3.1). In addition, $A_{\lambda} \in\left(l_{1}, c\right)$ and the finite limit $\phi$ exists for every $x \in l_{1}^{\lambda}$ by Lemma 2.6, since (3.2) and (3.3) hold. Hence relation (3.6) holds for every $x \in l_{1}^{\lambda}$. As (3.4) is valid, then $A_{\lambda, \mu} \in\left(l_{1}, l_{1}\right)$ by Lemma 2.8. Therefore, due to (3.1), $A \in\left(l_{1}^{\lambda}, l_{1}^{\mu}\right)$.
Remark 3.1. If $\lambda_{k}=O(1)$, then condition (3.2) can be replaced by condition (2.7), and condition (3.4) by condition

$$
\sum_{n} \mu_{n}\left|a_{n k}-a_{k}\right|=O(1)
$$

in Theorem 3.1.
Next we present the following theorems.
Theorem 3.2. A matrix $A=\left(a_{n k}\right) \in\left(l_{1}^{\lambda}, c^{\mu}\right)$ if and only if conditions (3.2) and (3.3) hold, $A e \in c^{\mu}$, and

$$
\begin{align*}
& \text { there exist the finite limits } \lim _{n} \mu_{n}\left(a_{n k}-a_{k}\right):=a_{k}^{\mu} \text { for all } k,  \tag{3.7}\\
& \qquad \mu_{n} \frac{a_{n k}-a_{k}}{\lambda_{k}}=O(1) . \tag{3.8}
\end{align*}
$$

Theorem 3.3. A matrix $A=\left(a_{n k}\right) \in\left(l_{1}^{\lambda}, c_{0}^{\mu}\right)$ if and only if $A e \in c_{0}^{\mu}$ and conditions (3.2), (3.3), (3.7) with $a_{k}^{\mu}=0$, and (3.8) hold.

Theorem 3.4. A matrix $A=\left(a_{n k}\right) \in\left(l_{1}^{\lambda}, l_{\infty}^{\mu}\right)$ if and only if $A e \in l_{\infty}^{\mu}$ and conditions (3.2), (3.3) and (3.8) hold.

Theorem 3.5. A matrix $A=\left(a_{n k}\right) \in\left(l_{\infty}^{\lambda}, l_{1}^{\mu}\right)$ if and only if conditions (3.1) and (3.3) hold, and

$$
\begin{gather*}
\sum_{k} \frac{\left|a_{n k}\right|}{\lambda_{k}}=O(1)  \tag{3.9}\\
\lim _{n} \sum_{k} \frac{\left|a_{n k}-a_{k}\right|}{\lambda_{k}}=0  \tag{3.10}\\
\sum_{n \in I} \sum_{k \in J} \mu_{n} \frac{a_{n k}-a_{k}}{\lambda_{k}}=O \tag{3.11}
\end{gather*}
$$

for all finite subsets $I$ and $J$ of $\mathbf{N}$.

As the proofs of Theorems 3.2-3.5 are similar to the proof of Theorem 3.1, we only give a short description of the proofs. As $e \in l_{1}^{\lambda}$ and $e \in l_{\infty}^{\lambda}$, then instead of condition (3.1), for Theorems 3.2-3.5 we correspondingly obtain $A e \in c^{\mu}, A e \in c_{0}^{\mu}, A e \in l_{\infty}^{\mu}$, and $A e \in l_{1}^{\mu}$. Also, the matrix transform $A_{n} x$ for $x:=\left(x_{k}\right) \in l_{1}^{\lambda}$ or for $x \in l_{\infty}^{\lambda}$ may be presented in the form (3.5). In addition, in the proof of Theorems 3.2-3.4 (similarly to the proof of Theorem 3.1) $A_{\lambda} \in\left(l_{1}, c\right)$, and in the proof of Theorem $3.5 A_{\lambda} \in\left(l_{\infty}, c\right)$. Hence the finite limit $\phi$ exists for every $x \in l_{1}^{\lambda}$ by Lemma 2.6, and for every $x \in l_{\infty}^{\lambda}$ by Lemma 2.3. Hence relation (3.6) also holds for every $x \in l_{1}^{\lambda}$ and for every $x \in l_{\infty}^{\lambda}$. The role of the matrix $A_{\lambda, \mu}$ is different in the proof of each theorem: in the proof of Theorem 3.2, $A_{\lambda, \mu} \in\left(l_{1}, c\right)$, in the proof of Theorem 3.3, $A_{\lambda, \mu} \in\left(l_{1}, c_{0}\right)$, in the proof of Theorem 3.4, $A_{\lambda, \mu} \in\left(l_{1}, l_{\infty}\right)$, and in the proof of Theorem 3.5, $A_{\lambda, \mu} \in\left(l_{\infty}, l_{1}\right)$. Therefore, for completing the proof of Theorem 3.2 it is necessary to use Lemma 2.6 , for completing the proof of Theorem 3.3 Lemmas 2.6 and 2.7, for completing the proof of Theorem 3.4 - Lemmas 2.6 and 2.5, and for completing the proof of Theorem 3.5 - Lemmas 2.3 and 2.4.

Remark 3.2. Using Lemma 2.3 (c) we obtain that conditions (3.9) and (3.10) we can replace by the condition

$$
\text { the series } \sum_{k} \frac{\left|a_{n k}\right|}{\lambda_{k}} \text { converges uniformly in } n
$$

in Theorem 3.5.
Remark 3.3. If $\lambda_{k}=O(1)$, then condition (3.2) can be replaced by condition (2.7), and condition (3.8) by condition

$$
\mu_{n}\left|a_{n k}-a_{k}\right|=O(1)
$$

in Theorems 3.2-3.4.
Remark 3.4. If $\mu_{k}=O(1)$, then conditions (3.7) and (3.8) are redundant in Theorems 3.2-3.4, and condition (3.8) is redundant in Theorem 3.5.

Corollary 3.1. Condition (3.2) can be replaced by condition

$$
\begin{equation*}
\frac{a_{k}}{\lambda_{k}}=O(1) \tag{3.12}
\end{equation*}
$$

in Theorems 3.1-3.4.
Proof. It is easy to see that condition (3.12) follows from (3.2) and (3.3). From the other side, conditions (3.3), (3.4) and (3.12) imply the validity of (3.2). Indeed, first from condition (3.4) we obtain that

$$
\begin{equation*}
\frac{a_{n k}-a_{k}}{\lambda_{k}}=O(1) \tag{3.13}
\end{equation*}
$$

since $\left(\mu_{n}\right)$ is bounded from below due to $\mu_{n} \geq \mu_{0}>0$ for every $n$. As

$$
\frac{a_{n k}}{\lambda_{k}}=\frac{a_{n k}-a_{k}}{\lambda_{k}}+\frac{a_{k}}{\lambda_{k}},
$$

then

$$
\frac{\left|a_{n k}\right|}{\lambda_{k}} \leq \frac{\left|a_{n k}-a_{k}\right|}{\lambda_{k}}+\frac{\left|a_{k}\right|}{\lambda_{k}} .
$$

Moreover, the finite limits $a_{k}$ exist by (3.3). Hence condition (3.2) is satisfied by (3.12) and (3.13).

In the following we characterize the set $\left(c^{\lambda}, l_{1}^{\mu}\right)$.

Theorem 3.6. A matrix $A=\left(a_{n k}\right) \in\left(c^{\lambda}, l_{1}^{\mu}\right)$ if and only if conditions (3.9) and (3.11) are satisfied, and

$$
\begin{equation*}
A e \in l_{1}^{\mu}, A e^{k} \in l_{1}^{\mu}, A \lambda^{-1} \in l_{1}^{\mu} \tag{3.14}
\end{equation*}
$$

Proof. Necessity. Assume that $A \in\left(c^{\lambda}, l_{1}^{\mu}\right)$. It is easy to see that $e^{k} \in c^{\lambda}, e \in c^{\lambda}$ and $\lambda^{-1} \in c^{\lambda}$. Hence condition (3.14) holds. As equality (3.5) holds for every $x:=\left(x_{k}\right) \in c^{\lambda}$, and the finite limit

$$
\tau:=\lim _{n} \mathfrak{A}_{n}
$$

exists due to $A e \in l_{1}^{\mu}$, then the method $A_{\lambda}$ transforms this convergent sequence $\left(v_{k}\right)$ into $c$. Similar to the proof of the necessity of Theorem 3.1, it is possible to show that, for every sequence $\left(v_{k}\right) \in c$, there exists a sequence $\left(x_{k}\right) \in c^{\lambda}$ such that $v_{k}=\lambda_{k}\left(x_{k}-s\right)$. Hence $A_{\lambda} \in(c, c)$. This implies by Lemma 2.2 that the finite limits $a_{k}$ and

$$
a^{\lambda}:=\lim _{n} \sum_{k} \frac{a_{n k}}{\lambda_{k}}
$$

exist, and that condition (3.9) is satisfied. With the help of (3.5), for every $x \in c^{\lambda}$, we can write by Lemma 2.2 that

$$
\begin{equation*}
\phi:=\lim _{n} A_{n} x=a^{\lambda} b+\sum_{k} \frac{a_{k}}{\lambda_{k}}\left(v_{k}-b\right)+\tau s, \tag{3.15}
\end{equation*}
$$

where $s:=\lim _{k} x_{k}$ and $b:=\lim _{k} v_{k}$. Now, using (3.5) and (3.15), we obtain

$$
\begin{equation*}
\mu_{n}\left(A_{n} x-\phi\right)=\mu_{n} \sum_{k} \frac{a_{n k}-a_{k}}{\lambda_{k}}\left(v_{k}-b\right)+\mu_{n}\left(\mathfrak{A}_{n}-\tau\right) s+\mu_{n}\left(\sum_{k} \frac{a_{n k}}{\lambda_{k}}-a^{\lambda}\right) b \tag{3.16}
\end{equation*}
$$

As $A e \in l_{1}^{\mu}$ and $A \lambda^{-1} \in l_{1}^{\mu}$ by (3.14), then $A_{\lambda, \mu} \in\left(c_{0}, l_{1}\right)$. Therefore we can conclude by Lemma 2.4 that condition (3.11) holds.

Sufficiency. Assume that conditions (3.9), (3.11) and (3.14) are satisfied. First we note that relation (3.5) holds for every $x \in c^{\lambda}$ and the finite limits $a_{k}, \tau$ and $a^{\lambda}$ exist by (3.14). As (3.9) also holds, then $A_{\lambda} \in(c, c)$ by Lemma 2.2 , and therefore relations (3.15) and (3.16) hold for every $x \in c^{\lambda}$. As condition (3.11) holds, then $A_{\lambda, \mu} \in\left(c_{0}, l_{1}\right)$ by Lemma 2.4. In addition, $A e \in l_{1}^{\mu}$ and $A \lambda^{-1} \in l_{1}^{\mu}$ by (3.14). Thus, $A \in\left(c^{\lambda}, l_{1}^{\mu}\right)$.
Theorem 3.7. A matrix $A=\left(a_{n k}\right) \in\left(c_{0}^{\lambda}, l_{1}^{\mu}\right)$ if and only if $A e \in l_{1}^{\mu}$, $A e^{k} \in l_{1}^{\mu}$, and conditions (3.9) and (3.11) are satisfied.

Proof. The proof is similar to the proof of Theorem 3.6; we only note that in this case $A \lambda^{-1}$ does not belong into $c_{0}^{\lambda}$.

Similarly to the proof of Corollary 3.1 it is possible to prove the following result.
Corollary 3.2. Condition (3.9) can be replaced by condition

$$
\begin{equation*}
\sum_{k} \frac{\left|a_{k}\right|}{\lambda_{k}}=O(1) \tag{3.17}
\end{equation*}
$$

in Theorems 3.5-3.7.

## 4. Absolutely $\lambda$-Conservative matrices and the improvement of absolute $\lambda$-CONVERGENCE

In this section we study the absolute $\lambda$-conservativity of matrices and the improvement of absolute $\lambda$-convergence by matrices. First we present some examples on $\lambda$-conservative matrices, and on matrices, improving the absolute $\lambda$-convergence.

Example 4.1. Let $\lambda$ be defined by

$$
\begin{equation*}
\lambda_{k}:=(k+1)^{\beta}, \beta \geq 1 \tag{4.1}
\end{equation*}
$$

Then a lower triangular matrix $A=\left(a_{n k}\right)$, defined by

$$
\begin{equation*}
a_{n k}:=\frac{k+1}{(n+1)^{\alpha}} ; \alpha>0 \tag{4.2}
\end{equation*}
$$

is absolutely $\lambda$-conservative if $\alpha>\beta+3$. For proving it, we show that all conditions of Theorem 3.1 for $\mu_{n}=\lambda_{n}$ are satisfied. It is easy to see that conditions (3.2) and (3.3) with $a_{k}=0$ hold, and

$$
T_{k}:=\frac{1}{\lambda_{k}} \sum_{n} \mu_{n}\left|a_{n k}-a_{k}\right|=\frac{1}{(k+1)^{\beta-1}} \sum_{n=k}^{\infty} \frac{1}{(n+1)^{\alpha-\beta}}=O(1)
$$

for $\alpha-\beta>1$ or $\alpha>\beta+1$ (but we have $\alpha>\beta+3$ by assumption). Thus, condition (3.4) is fulfilled. Finally we show that condition (3.1) holds. As

$$
A_{n} e=\sum_{k=0}^{n} \frac{k+1}{(n+1)^{\alpha}}=\frac{1}{2} \frac{(n+2)(n+1)}{(n+1)^{\alpha}}
$$

then

$$
\lim _{n} A_{n} e=0
$$

since $\alpha>2$ by the assumption. Hence

$$
S:=\sum_{n} \lambda_{n}\left|A_{n} e\right|=\sum_{n} \frac{1}{(n+1)^{\alpha-\beta}}\left|\sum_{k=0}^{n}(k+1)\right|=\frac{1}{2} \sum_{n}\left(\frac{n+2}{n+1}\right) \frac{1}{(n+1)^{\alpha-\beta-2}}=O(1)
$$

for $\alpha>\beta+3$.
Example 4.2. Let $\lambda$ be defined by (3.5), and $\mu$ by

$$
\mu_{n}:=(n+1)^{\gamma}, \gamma \geq 1
$$

Then the matrix $A=\left(a_{n k}\right)$, defined by (4.2), improves the absolute $\lambda$-convergence if $1 \leq \beta<\gamma<\alpha-3$.. Indeed, as in Example 4.1, conditions (3.2) and (3.3) with $a_{k}=0$ hold. In this case

$$
T_{k}=\frac{1}{(k+1)^{\beta-1}} \sum_{n=k}^{\infty} \frac{1}{(n+1)^{\alpha-\gamma}}=O(1)
$$

and

$$
S=\frac{1}{2} \sum_{n}\left(\frac{n+2}{n+1}\right) \frac{1}{(n+1)^{\alpha-\gamma-2}}=O(1)
$$

since $\beta \geq 1$ and $\alpha-\gamma>3$. Hence all conditions of Theorem 3.1 are satisfied and $\mu_{n} / \lambda_{n} \neq$ $O(1)$.

We note that, from the point of view of applications, regular matrices are still the most important. Therefore, let us look at some examples of them. Let $\left(p_{n}\right)$ be a sequence of nonzero real numbers and $P_{n}=p_{0}+\ldots+p_{n} \neq 0$. Then the Riesz matrix $\left(R, p_{n}\right)$, defined by a lower triangular matrix $A=\left(a_{n k}\right)$, is given by equalities ([3], p. 29 or p. 131)

$$
a_{n k}=\frac{p_{k}}{P_{n}}, k \leq n .
$$

Proposition 4.1. The Riesz matrix $\left(R, p_{n}\right)$ with $\lim _{n} P_{n}=\infty$ is absolutely $\lambda$-conservative if and only if

$$
\begin{equation*}
\frac{p_{k}}{\lambda_{k}} \sum_{n=k}^{\infty} \frac{\lambda_{n}}{P_{n}}=O(1) . \tag{4.3}
\end{equation*}
$$

Proof. For the proof it is sufficient to show that all conditions of Theorem 3.1 are satisfied for $\mu_{n}=\lambda_{n}$ and $A=\left(R, p_{n}\right)$. It is easy to see that in this case $A e=1$ and $a_{k}=0$; so conditions (3.1) and (3.3) are satisfied. Therefore the validity of condition (3.4) implies condition (3.2). In addition, condition (3.4) takes now the form (4.3).
Corollary 4.1. The Riesz matrix ( $R, p_{n}$ ) with $\lim _{n} P_{n}=\infty$ and $p_{n}>0$ does not absolutely $\lambda$-conservative for any unbounded $\lambda$.
Proof. As $p_{n}>0$ and $\lim _{n} P_{n}=\infty$, then the series

$$
\sum_{n} \frac{p_{n}}{P_{n}}
$$

diverges by Dini's test. Therefore there exist $M>0$ such that

$$
P_{n}<M p_{n}(n+1) \ln (n+1) .
$$

Hence

$$
L_{k}:=\sum_{n=k}^{\infty} \frac{\lambda_{n}}{P_{n}}>\frac{1}{M} \sum_{n=k}^{\infty} \frac{\lambda_{n}}{p_{n}(n+1) \ln (n+1)} .
$$

For the boundedness of $L_{k}$ it is necessary that $p_{n} / \lambda_{n} \neq O(1)$. But in this case condition (4.3) does not hold. Therefore, $\left(R, p_{n}\right)$ does not absolutely $\lambda$-conservative for any unbounded $\lambda$.

It is easy to see that $\left(R, p_{n}\right)$ is regular for $\lim _{n} P_{n}=\infty$ and $p_{n}>0$ by Lemma 2.2. Therefore, the question may arise as to whether it exists at all a regular absolutely $\lambda$ conservative matrix. The answer is yes. To confirm the statement, let's look at the Zweier matrix $Z_{1 / 2}$, defined by the lower triangular matrix $A=\left(a_{n k}\right)$, where (see [9], p. 14) $a_{00}=1 / 2$ and

$$
a_{n k}= \begin{cases}\frac{1}{2}, & \text { if } k=n-1 \text { and } k=n ; \\ 0, & \text { if } k<n-1\end{cases}
$$

for $n \geq 1$. The method $A=Z_{1 / 2}$ is regular by Lemma 2.2.
Proposition 4.2. The Zweier matrix $Z_{1 / 2}$ is absolutely $\lambda$-conservative if and only if $\lambda_{k+1} / \lambda_{k}=O(1)$.
Proof. For the proof it is sufficient to show that all conditions of Theorem 3.1 are satisfied for $\mu_{n}=\lambda_{n}$ and $A=Z_{1 / 2}$. Similarly to the proof of Proposition 4.1, it is possible to show that conditions (3.1) and (3.3) hold, and condition (3.2) follows from (3.4) Condition (3.4) takes now the form

$$
\frac{1}{2 \lambda_{k}}\left(\lambda_{k}+\lambda_{k+1}\right)=\frac{1}{2}\left(1+\frac{\lambda_{k+1}}{\lambda_{k}}\right)=O(1)
$$

which is equivalent to $\lambda_{k+1} / \lambda_{k}=O(1)$. This completes the proof.
Remark 4.1. It is not difficult to see that $\lambda$, defined by (4.1), satisfies the condition of Proposition 4.2.

Next we prove the following result.
Lemma 4.1. If a matrix $A=\left(a_{n k}\right)$ improves the absolute $\lambda$-convergence, then

$$
\begin{equation*}
\lim _{r} \sum_{n=k}^{r}\left|a_{n k}-a_{k}\right|=0, r>k \tag{4.4}
\end{equation*}
$$

for every $k$.
Proof. If a matrix $A=\left(a_{n k}\right)$ improves the absolute $\lambda$-convergence, then $\mu_{n} / \lambda_{n} \neq O(1)$ by definition. Suppose (4.4) does not hold. Then, for every $\epsilon>0$ and for every $k$, there exists a sequence of indexes $\left(i_{r}^{k}\right)$, such that

$$
\sum_{n=k}^{i_{r}^{k}}\left|a_{n k}-a_{k}\right| \geq \epsilon
$$

for every $k$. Hence

$$
\frac{1}{\lambda_{k}} \sum_{n=k}^{i_{r}^{k}} \mu_{n}\left|a_{n k}-a_{k}\right| \geq \epsilon \frac{\mu_{k}}{\lambda_{k}}
$$

(since $\mu$ is monotonically increasing). As a matrix $A$ improves the absolute $\lambda$-convergence, then

$$
\begin{equation*}
\frac{1}{\lambda_{k}} \sum_{n=k}^{i_{r}^{k}} \mu_{n}\left|a_{n k}-a_{k}\right|=O(1) \tag{4.5}
\end{equation*}
$$

by Theorem 3.1. But condition (4.5) can be satisfied only in the case if $\mu_{n} / \lambda_{n}=O(1)$, which contradicts $\mu_{n} / \lambda_{n} \neq O(1)$. Thus condition (4.4) holds.

Using Lemmas 2.2 and 4.1, we immediately obtain the following corollary.
Corollary 4.2. Any regular matrix cannot improve the absolute $\lambda$-convergence for any unbounded $\lambda$.

## 5. Conclusions

In this paper we introduced the notions of absolute convergence with speed (where the speed is defined by a monotonically increasing positive sequence $\lambda$ ), absolute $\lambda$ conservativity of a matrix, and improvement of $\lambda$-convergence by a matrix. We characterized certain matrix classes involving some spaces with involvement of speeds. Also we studied the absolute $\lambda$-conservativity and the improvement of $\lambda$-convergence for regular matrices, and proved that the (regular) Zweier matrix is absolutely $\lambda$-conservative with respect to some $\lambda$, and any regular matrix cannot improve the absolute $\lambda$-convergence for any unbounded $\lambda$.

The findings of the present paper should inspire to investigate for several other matrix classes characterization by assigning speeds to different classes of participating spaces. For example, it is possible to consider the convergence and absolute convergence with speed in Hahn sequence space $h$ (see [14], [15], [19] - [21]); so for different speeds it is possible to obtain several Hahn sequence spaces with speed and to study matrix transforms between them. The results of the present paper also can be interesting for approximation theory, for example, to compare the approximation orders of Fourier expansions.

## References

[1] Aasma, A., Natarajan, P. N., Matrix transforms between sequence spaces defined by speeds of convergence, FILOMAT, to appear.
[2] Aasma, A., Dutta, H., (2020), Matrix transforms of $\lambda$-boundedness domains of the Zweier method, TWMS J. App. and Eng. Math., 10, pp. 28-37.
[3] Aasma, A., Dutta H., Natarajan P. N., (2017), An introductory course in summability theory, John Wiley and Sons, Hoboken.
[4] Aasma, A., (2016), Convergence acceleration and improvement by regular matrices, In: Dutta, H., Rhoades, B. E. (eds.), Current topics in summability theory and applications, Springer, Singapore, pp. 141-180.
[5] Aasma, A., (2002), On the summability of Fourier expansions in Banach spaces, Proc. Estonian Acad. Sci. Phys. Math., 51, pp. 131-136.
[6] Aasma, A., (1999), Matrix transformations of $\lambda$-boundedness fields of normal matrix methods, Studia Sci. Math. Hungar., 35, pp. 53-64.
[7] Aasma, A., (1997), Comparison of orders of approximation of Fourier expansions by different matrix methods, Facta Univ. (Niš) Ser. Math. Inform., 12, pp. 233-238.
[8] Baron, S., (1977), Vvedenie v teoriyu summiruemosti ryadov (Introduction to the theory of summability of series), Valgus, Tallinn.
[9] Boos, J., (2000), Classical and modern methods in summability, Oxford University Press, Oxford.
[10] Jürimäe, E., (1994), Matrix mappings between rate-spaces and spaces with speed, Acta Et Comment. Univ. Tartuensis, 970, pp. 29-52.
[11] Kangro, G., (1971), Množiteli summirujemosti dlya ryadov, $\lambda$-ogranitšennõh metodami Rica i Cezaro (Summability factors for the series $\lambda$-bounded by the methods of Riesz and Cesàro), Tartu Riikl. Ül. Toim., 277, pp. 136-154.
[12] Kangro, G., (1969), O množitelyah summirujemosti tipa Bora-Hardy dlya zadannoi ckorosti I (On the summability factors of the Bohr-Hardy type for a given speed I), Eesti NSV Tead. Akad. Toim. Füüs.-Mat., 18(2), pp. 137-146.
[13] Leiger, T., (1992), Funktsionaalanalüüsi meetodid summeeruvusteoorias (Methods of functional analysis in summability theory), Tartu Ülikooli Kirjastus, Tartu.
[14] Malkowsky, E., Rakočević, V., Tuğ, O., (2021), Compact operators on the Hahn space, Monatsh. Math., 196(3), pp. 519-551.
[15] Malkowsky, E., Milovanović, G., Rakočević, V., Tuğ, O., (2021), The roots of polynomials and the operator $\Delta_{i}^{3}$ on the Hahn sequence space $h$, Comput. Appl. Math., 40(6), Paper no. 222, 18 pp.
[16] Natarajan, P. N., (2021), Functional Analysis and summability, CRC Press, Boca Raton.
[17] Natarajan, P. N., (2017), Classical summability theory, Springer, Singapore.
[18] Stieglitz, M., Tietz, H., (1977), Matrixtransformationen von Folgenräumen. Eine Ergebnisübersicht, Math. Z., 154, pp. 1-14.
[19] Tuğ, O., Malkowsky, E., Hazarika, B., Yaying, T., (2022), On the new Generalized Hahn sequence space $h_{d}^{p, n}$, Abstract and Applied Analysis, 2022, Article ID 6832559, 11 pp.
[20] Tuğ, O., Rakočević, V., Malkowsky, E., (2021), Domain of generalized difference operator $\Delta_{i}^{3}$ of order three on Hahn sequence space $h$ and matrix transformation, Linear and Multilinear Algebra, pp. 1-19, https://doi.org/10.1080/03081087.2021.1991875.
[21] Yaying, T., Kirisci, M., Hazarika, B., Tuğ, O., Domain of $q$-Cesàro matrix in Hahn sequence space $h_{d}$ and the space $b v$ of the sequences of bounded variation, FILOMAT, to appear.


Ants Aasma is an Associate Professor of Mathematical Economics in the Department of Economics and Finance at Tallinn University of Technology, Estonia. He completed his Ph.D. in 1993 from Tartu University, Estonia. His main research interests include topics from the summability theory, such as matrix methods, matrix transforms, summability with speed, convergence acceleration and statistical convergence. He is also interested in approximation theory, and dynamical systems in economics.


Pinnangudi N. Natarajan retired as Head of the Faculty of Mathematics, R. K. M.
Vivekananda College, Chennai, Tamil Nandu, India in May 2004. Since then, he has been an active independent researcher. His research interests include Summability Theory and Functional Analysis - both classical and ultrametric.


[^0]:    ${ }^{1}$ Tallinn University of Technology, Department of Economics and Finance, Akadeemia tee 3-456, 12618, Tallinn, Estonia.
    e-mail: ants.aasma@taltech.ee; ORCID: https://orcid.org/0000-0003-0350-3888.

    * Corresponding author.
    ${ }^{2}$ OLD No. 2/3, NEW No.3/3, Second Main Road, R.A.Puram, 600028 Chennai, India.
    e-mail: pinnangudinatarajan@gmail.com; ORCID: https://orcid.org/0000-0001-5182-3339.
    § Manuscript received: September 01, 2022; accepted: November 30, 2022. TWMS Journal of Applied and Engineering Mathematics, Vol.14, No. 3 (C) Işık University, Department of Mathematics, 2024; all rights reserved.

